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n(K")=n(Br )=CJV,=1,08.10"x100.10" =1,08.10"* mol.l"*
n(Na*)=n(I")=C,V,=9,51.10"*x200.10"° =1,90.10"* mol I
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7{/:3.60.10 moll =3.60.10 mol.m "~

2 =6.34.10 * moll" =6.34.10 " mol.m™
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o=4. [K"]Jr/l&_ [B;- ]m [Nn']uj [1 ]
o=(A.+4, )[K']+(,1_\_a_ +, )[Na']

o =(73,5+78,1)x107* x3,60.10"" +(50,1+76.3)x10* x6,34.10"
c=1,34.10" Sm
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o, =CA., +1) o =2 K |+4, |Br |=0,=C(A. +4,)
0,=9.51.10"x10’x(50,1.10 " +76,3.10")  0,=1,08.10°x10°x(73,5.10 " +78,1.10")
0, =1,20.10" Sm™ 0, =1,62.10" Sm™
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o'= 1 (50%1,62.107* +300x1,20.10)
50+300

0'=1,26.10"Sm™
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